"T&e SPORTS
JEEER—

7FT DINNING POOL TABLE
ASSEMBLY INSTRUCTION

@ www.trsports.com.au @, 1300 655 308
R masontaylorliving.com.au XX customerservice@trsports.com.au

IMPORTANT :

This instruction is designed for professional dinning pool tables. Please read through the instruction
book before attempting assembly to familiarize yourself with all parts and assembly steps.

We’'ve tried our best to state all steps clearly, but please understand that we couldn’t draw all the details
completely due to the complexity of some steps. So we highly recommend you find and watch the video
instruction on the home page of above websites.

If the installation is still difficult for you after reading instruction book and watching the video, please feel
free to contact us, as we also provide affordable and professional installation service for most areas.

Copyright © 2019 by T&R Sports
All rights reserved. No part of this instruction may be used or reproduced in any manner whatsoever without written permission.



Before Assembling Slate Pool Tables

Thank you for purchasing T&R Sports products. Please read carefully these precautions about the
assembly before start assembling your tables.

o Choose a right place to position your slate table. The place you want to put your table should

be as flat as possible. Otherwise this will increase the difficulty of leveling which is not easy
for an unprofessional installer.

Once you find a suitable place, please start installing at this exact location, because when you
finish the installation, you cannot move the table anymore. Moving slate table will cause the table
to be uneven. An uneven table, even one that’s only slightly off, will cause the pool balls to roll
and adversely affect the accuracy of your shots.

Before assembling, we recommend installer preparing necessary tools as mentioned below.
- Level,

- Sandpaper,

- Putty (Builder’s bog is available in Bunnings),

- Staple gun or Spray adhesive,

- Needle Nose Plier,

- Shims,

- Screwdriver (Electrical is recommended)

Two or more persons are needed for assembly. Pay careful attention during transport or
assembly as slate pool tables are very heavy.

e Be sure to wear protective gear like work gloves to avoid injury during assembly.

Be sure to protect the floor, wall or surrounding furniture with carpet, blanket or shock-absorbing
materials during assembly in order not to damage them. Assembly work should be done
where there is enough space.

Maintaining Slate Pool Tables

- Never lift, move or sit on your table due to easy breakage of slate.

- Keep your table in a dry, cool space and away from any sharp instruments.

- Please use a dry cloth to clean the timber surface.

- Do not eat, drink or smoke over the table. Remember to cover the table after playing.

- If any relocation, re-felting, refurbishment or removal services are required, please contact us to
experience the professional services.



P1

PARTS IDENTIFIER

P1 Slates (2 end & 1middie)

3PCS

P2 Long Beam

2PCS

P3 Short Beam

2PCS

P4 Side Cushion

4PCS

P5 End Cushion

7

2PCS

P6 Table Leg

4PCS

P7a Corner Pocket

4PCS

P7b Middle Pocket

2PCS

P8 End Apron
)

2PCS

P9 Side Apron

P10 Dinning Top

P11 Dining Top

#1 Bolt For Cushion

#2 Rectangular

Support Batten Washer
1315x2240mm 960X55mm M10x150mm 35%25x3.5mm
2PCS 2PCS 3PCS 2PCS 4PCS
#3 Bolt For Cushion #4 Rectangular #5 Bolt For Cushion #6 Washer #7 Self-tapping Screw
Washer
M10x100mm 40%25%x10mm M8x45mm 30x9x1.5mm M4x20mm
4PCS 8PCS 18PCS 18PCS 12PCS
#8 Bolt #9 Washer #10 Bolt #11 Washer #12 Self-tapping Scre
@m@ \ D Bty
M8x40mm 30x9x2mm M6x35mm 22x7%x1.5mm
28PCS 28PCS 8PCS 8PCS

S




P2

1. Open the leg box, take out four legs on level ground. Four legs are the same, no direction.

——P6

2. Take out 2 pcs of short support beams and long support beams respectively, fix the wooden plug into the
holes of legs.

#8 #9 #8 #9

#8 #9 #8 #9

P3




P3

3. Please check the levelness by a leveller and adjust the leg levellers before you putting the slates on. If you
don’t know how to do it, we highly recommend you watching the video instruction.

4. Put the slate on the beams, measure the 4 sides to ensure it sits in the center. Then check and adjust the
levelness of slates by putting shims underneath the slate.
5. Put putty into the gaps of slates and then sand it to be smooth. For details, please check our video instruction.




P4

6. Before attaching bed cloth, please clean slate thoroughtly. Lay the bed cloth over the top of the slate, nap
side up. Leave an equal amount of cloth overhang at the end and sides of the slate.

7. Adjust cloth to leave only enough cloth overhang at the head end and left side to permit tacking into the
wood slate frame. Leave the balance of cloth overhang at the foot end and right side.

Left Side

8. Glue or staple the cloth securely to the wood frame at location #1 approximately 2” apart.

9. Stretch the cloth across the table and glue or staple securely at location #2 approximately 2” apart.

10. Stretch the cloth from location #1 to location #3 and glue or staple securely into the wood frame at the left
side of the table.

11. Stretching the cloth across the table from location #3 and pulling from location #2, glue or staple the cloth
at location #4. #3
R

Left Side
#4




P5

12. On the left side, stretch the cloth tightly from location #1 toward the side pocket opening and glue or staple

securely at location #5.
13. Repeat step 10, stretching the cloth from location #3 and gluing or stapling at location #6.
14. On the right side of the table, grasp the cloth firmly and stretch across the table from location #5 and toward

the side pocket from location #2 and glue or staple at location #7.
15. Repeat step14, stretching the cloth from location #6 and toward the side pocket from location #4 and glue

or staple at location #8.

Left Side
#4

16. At location #9, cut a short slit in the cloth at the edge centered on the side pocket opening. Grasp the cloth
firmly above this slit, pull the cloth into the side pocket opening and glue or staple to the wood grame. Complete
fastening of the cloth to the side pocket opening, making sure the cloth is glued or stapled to the wood frame.
17. Stretching the cloth tightly across the table from location #9, repeat step16 at location #10.




P6

18. At the head end of the table, glue or staple the cloth at location #11, maintaining uniform overhang.
19. Pull the cloth from location #11 toward location #12 and glue or staple securely along the wood frame,

keeping the cloth even along the head end.
20. Stretch the cloth firmly from location #11 to the foot end of the table and glue or staple at location #13.

21. Stretch the cloth tightly from location #12 and #13 toward location #14 and glue or staple securely along
#13

the wood slate frame.

22. Glue or staple all of the left side on 2” centers keeping the cloth even along the wood frame.
23. Glue or staple the balance of the head end on 2” centers also keeping the cloth even along the wood frame.
24. Stretch the cloth tightly toward the foot end of the table, gluing or stapling on 2” centers along the wood

frame at the foot end.
25. Stretch the cloth tightly across the table to the right side, gluing or stapling on 2” centers all the way along

the wood frame at the right side.




P7

26. Stretch the cloth into the corner pocket openings and glue or staple to the wood slate frame.
27. Trim off excess cloth around the perimeter of the slate. Locate the eighteen(18) rail attach holes and cut
clearance holes in the cloth with a sharp knife.

Note: Occasionally cloth will stretch, leaving wrinkles at the pockets. To retighten, remove apron, one end rail

Cut holes in cloth at
rail both locations.

. . . 4
28. Take out 6 cushions and put the cushions upside
down, then followed by labeled A,B,C on the cushion to )

Connect together




P8

29. Take out two pcs long side panel and two pcs short side panel,Using bolt #8 and washer #9 to fix cushion
A,B,C , using bolt #10 and washer #11 to fix long side panel and short side panel in four corner ,As shown in

picture: #10 #11

#10#11

\ #10 #11

30. Upside down the pool table top part like picture showing, make four sides in horizontal line, Using bolt #5
and washer #6 to tight the cushion with slate, and using screw #7 to fix the pocket on the cushion.




P9

31. put three support batten on table, then put 2 pcs dinning top board on these batten, board's working surface

will adjust in the horizontal plane.

32. Good job, finished.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11



